Intermediate 2 Questions

The first type of question you will be asked is a knowledge and understanding question. You will be provided with a source, which you can use in your answer, but the examiner is looking for a lot of recall from you.

Look at the following example:
Source A is from a modern history book
The Boer War that ended in 1902 had shown up in horrifying detail the poor state of health of many people in Britain. A quarter of the urban male population were unfit to serve in the armed forces. Others were concerned that in the economic battle with rivals like Germany and the USA, Britain’s workers were insufficiently energetic and educated.

1. What were the main causes of the Liberal Reforms? Use the source and your own knowledge to answer the question.

Answer:

As stated in Source A, there was a real need to help the British public become healthier so that they would be fit enough to fight in a future war. The issue of National Efficiency was also important because Britain’s industries were falling behind those of the USA and Germany. However, these were not the only reasons. Lloyd George had grown up in a Welsh mining village and had a genuine desire to help poor people – this concept was known as New Liberalism. There was also the threat of the Labour Party – the Liberals felt they had to adopt policies that the working class would vote for or Labour would steal their votes. The reports of Booth and Rowntree also showed that 30% of the urban population was living in poverty – these reports proved to be very influential as is shown by the types of reforms eventually passed by the Liberal Government, such as Old Age Pensions. This had been an idea suggested by Charles Booth. 

Practice

SOURCE B is by Herbert Smith who was a member of the Liberal Government 1906-1914.

SOURCE B
Under the Children’s Charter of 1908 we introduced laws to prevent the cruelty and neglect from which many children suffered. We set up a completely new system of Juvenile Courts for dealing with delinquent children, and ended the practice of sending children to adult prisons.
Q.1 
In what ways did the reforms of the Liberal Government of 1906-14 improve life for children in Britain? 
(Use SOURCE B and recall)

___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
SOURCE C is part of a letter to the Times newspaper in January 1904.
SOURCE C
Sober and hardworking people are generally prosperous and drunken careless people are generally in a state of poverty.  If our taxes are used to support idleness, this will encourage bad habits and destroy the will to work among large sections of the lower classes.
Q.2 
What arguments did people who opposed government help for the poor use? (Use SOURCE C and recall)
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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